
iz-9 fuEu ds vusdkFkhZ 'kCn fy[kks&    4×½=2 
 vke  ---------------------------- -]  --------------------------------- 

 i=   ---------------------------- ]  --------------------------------- 

iz-10 loZuke vFkok dkjd dh ifjHkk"kk o Hksnksa ds uke fy[kks 2$1=3 

 ifjHkk"kk  ------------------------------------------------------------------------

 ----------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------- 

 ----------------------------------------------------------------------------------------- 

 Hksnksa ds uke  ------------------------------------------------------------------ 

 ---------------------------------------------------------------------------------------- 
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NLS/2015/105       Name __________________ Roll No. _____ Section __ 
ladfyr ijh{kk ¼ izFke ½ 2015 - 16  

d{kk & pkSFkh  
fo"k; & fgUnh 

le;% 1%00 ?kaVk           iw.kkZad 20 
Hkkx & v 

iz-1 mfpr 'kCn fy[kdj fjDr LFkku Hkjkss&   4×½=2 

 ¼dks] esa] dk] dh½ 

1- xjfe;ksa -------------------- esjk ty lw[k tkrk gSA 

2- eSa lnk pyrs&jgus -------------- xhr lqukrh gw¡A 

3- eSa igkM+ksa --------------- csVh gw¡A 

4- eSa euq";ksa ------------------ vkuUn nsrh gw¡A 

iz-2 fn, x, okD; esa js[kkafdr laKk 'kCn ds Hksn dk uke fy[kks&4×½=2 

1- jk?ko ijs'kku gks x;kA    --------------------------- 

2- cpiu esa og cgqr 'kjkjrh FkkA  --------------------------- 

3- mlus foKku dh fdrkc rks [kksyh rd u FkhA ----------------------- 

4- mls cgqr [kq'kh gqbZA   --------------------------- 



iz-3 foykse 'kCn fyf[k,&      4×½=2 

 viuk  ----------------------- fu'p;  ------------------------------ 

 'kkafr ----------------------- ges'kk  ------------------------------ 

iz-4 fuEu ds nks&nks i;kZ;okph 'kCn fy[kks&   8×¼ =2 

 cf<+;k   ---------------------- ---------------------------- 

 vk¡[k  ---------------------- ---------------------------- 

 bZ'oj  ---------------------- ---------------------------- 

 ;qn~/k  ---------------------- ---------------------------- 

iz-5 fjDr LFkku Hkjks&      4×½=2 

1- ek¡ dk ---------------------- O;FkZ ugha tk ldrkA 

2- eq>s fØdsV --------------- ns[kuk ilUn gSA 

3- usrkth us -------------------- dh vksj iz'ulwpd ǹf"V ls ns[kkA 

4- xjfe;ks esa ufn;ksa dk ty ---------------- tkrk gSA 

iz-6 fuEu vadksa dks 'kCnksa esa fy[kks&    4×¼ =1 
 16 ------------------------  27 ------------------------ 

 48 ------------------------  36 ------------------------ 

iz-7 lgh fodYi pqu dj dks"Bd esa fy[kks&   4×½=2 

1- vaxzsth dh fyfi gS& 

¼v½ xq:eq[kh  ¼c½ Qkjlh ¼l½ mnwZ   ¼n½ jkseu ¼ ½ 

2- bZn dk pk¡n eqgkojs dk vFkZ gS%& 

¼v½ dHkh&dHkh fn[kuk ¼c½ cgqr I;kj gksuk 

¼l½ pfdr gks tkuk     ¼ ½ 

3- i= ds izdkj gksrs gS%& 

¼v½ lkr ¼c½ vkB ¼l½ nl   ¼ ½ 

4- lgh vFkZ dk Øekad dks"Bd esa fy[kks& 

¼v½ dj  djuk] gkFk  ¼c½ rhj  'k=q] lSfud ¼ ½ 

iz-8 lgh mÙkj lkeus fy[kks&     4×½=2 

1- laKk ds LFkku ij iz;qDr 'kCn  ---------------------------------- 

2- fgUnh dh fyfi    ---------------------------------- 

3- Loj gksrs gSaA   ---------------------------------- 

4- gekjk jk"Vª/ot dgykrk gS ---------------------------------- 



Q.7 Fill the missing letter :      1×4=4 

 (i) I___S___RT  (ii) I___O___ 

 (iii) D___S___TO___  (iv) CO___PU___ER 

Q.8 Give Answer in short :-      1×4=4

 (i) Who is the founder of Microsoft? 

 (ii) What is the use of shapes tool? 

 (iii) What is a hard disk? 

 (iv) What is the use of light Pen? 

Q.9 Give Answer in Detail :      2×4=8 

 (i) What do you understand by word processing? 

 (ii) What is a short cut? 

(iii) What do you understand by a computer’s memory? 

Name its parts. 

 (iv) Explain any two features of window-7.  

Q.10 Draw any two tools you used in Tux Paint.            4 
  Practical             25 

***** 
 
 

NLCS/2015/105                                     ROLL NO. _________ SECTION _______ 

Summative Assessment (S.A. I) 2015-2016 
Subject – Computer 

Class – IV 
Time : 1: 30 Hrs.                        M M.60 
Q.1 Fill in the blanks :                 ½×5= 2½  

 (i) The physical parts of a computer are called ------- . 

 (ii) -------------- means we can perform more than one  

task at a time. 

(iii) -------------- tool is used to create and open a new file 

in Tux Paint. 

 (iv) The shortcut key to open a word document is ------ . 

 (v) A flash drive is popularly known as ---------- . 

Q.2 State True OR False :-             ½×5= 2½ 

 (i) A light pen is only used with LCD monitor. 

 (ii) RAM stands for Random Accept Memory. 

 (iii) The shortcut menu is also called the context menu. 

 (iv) The shortcut key to close a document is Ctrl+C. 

 (v) The save command is used to save a document for  

future use.  



Q.3 Match the following :-           ½×5= 2½ 

 (i) Ctrl+A  - (a) Internal memory 

 (ii) Edges effect  - (b) stores information 

 (iii) ROM   - (c) Ctrl +N 

 (iv) MU   - (d)  

 (v) New file  - (e) Selects the entire text 

Q.4 Tick (√) the correct Answer :-    ½×5= 2½ 

 (i) Which output devices allows you to hear sound? 

  (a) speaker   (b) Monitor 

 (ii) ----------- is not a secondary storage device. 

(a) RAM   (b) DVD 

(iii) Windows is a ---------- user interface. 

(a) Graphical  (b) Character 

(iv) We can rotate the shape upto -------- degrees. 

(a) 180   (b) 360 

(v) Which is the shortcut key for Undo command? 

 (a) Ctrl+Y   (b) Ctrl+Z 

Q.5 Give Answer in One word :-           ½×5= 2½ 

 (i) Which device will use to record voice? 

 (ii) Which device gives the output onto paper? 

 (iii) Which button opens the start menu? 

 (iv) Which key combination is used to close the MS  

Word document? 

(v) Which key combination is used to save our work in 

MS Word? 

Q.6 Name the computers parts :-           ½×5= 2½ 

 (i) The physical part of a computer are called ------. 

 (ii) Which devices is used to enter data and instructions  

in computer? 

 (iii) Name any one pointing devices. 

 (iv) Which device reads texts or pictures printed on a  

paper? 

 (v) Which device is used to take printouts? 



Q.9 Circle the Adverbs in these sentences and write what kind of Adverbs 

they are :        ½×4=2  

    (i) Write your name neatly ___________________ . 

 (ii) Tony was absent yesterday ____________________ . 

 (iii) Why has he left his hometown? ____________________. 

 (iv) This sum is too difficult for me. _______________________ . 

Q.10 Tick (√) the correct Answer :-     ½×4=2 

 (i) The mountain was lonely because it –  

  (a) has no friends  (b) was alone in the blue sky. 

 (ii) There were many rats in Africa because – 

(a) Rats loved to live in Africa  

(b) there were no cats to catch the rats 

 (iii) The woman had –  

(a) Plums   (b) Apples 

 (iv) When the snake saw the author it –  

(a) Oiled itself up   

(b) moved away quickly and hid in coconut shell      
 

***** 
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Summative Assessment (S.A. 1) 2015-2016 
Class – IV 

Subject – English   
Time : 1 Hour       M.M. 20 

Part - A 
Q.1  (a) Write a common noun for each group of proper nouns :¼×4=1 

  (i) Raj, Nutan, Navin, Priya  __________________ 

  (ii) January, March, October, Decmber_______________ 

  (iii) Christmas, Pongal, Diwali, Eid __________________ 

  (iv) Mercury, Mars, Jupiter, Uranus _________________ 

Q.2 Write Antonyms :-           ¼×4=1 

 (i) Colorful  × ______________ (ii) Gladly  × _____________ 

 (iii) Opened   ______________     (iv)  Longer × ____________ 

Q.3 Write the Definition of Adjective OR Adverb with two example :  

            1+2=3    

 Ans. ______________________________________________ 

 __________________________________________________  

 __________________________________________________ 

 __________________________________________________ 

Q.4 (a)  Complete below sentences with the simple present tense forms of  

       the verbs in the brackets :-    ½×4=2 

(i) No one in my family _________________ (like) loud music. 



(ii) The earth ___________________ (revolve) round the sun. 

(iii) He is very lazy. He ___________________ (not work) hard. 

(iv) His office is nearby. He __________________ (not need) to 

go by car. 

(b)  Tick the correct forms of the verbs in these sentences : ½×4=2 

(i) He (works / has worked)in this factory before. 

(ii) Someone (has broken / broke) the vase yesterday? 

(iii) The pillow (has fallen / fall) from the bed. 

(iv) She (saw / has seen) the painting only today. 

(c) Rearrange the words and use do and does to form question :  

½×2=1 

(i)  like / you / films? 

Ans. :______________________________________________ 

(ii) Your father / work / where / ? 

Ans. :______________________________________________ 

Q.5 Change below sentences from the singular to the Plural :  ½×2=1  

 (i) The potato is hot. 

Ans. :______________________________________________ 

 (ii) He has repaired the car. 

Ans. :______________________________________________ 

Q.6 Underline the subjects and circle the objects in below sentences : 
½×4=2 

(i) He sent an E-mail to his friend. 

(ii) Julie wrote a poem. 

(iii) She ate a lot of cake at the party. 

(iv) The driver kept blowing the horn. 

Q.7 Change the gender of the Nouns in below sentences :-   ½×4=2  

 (i) The landlord of our house is very friendly. 

Ans. :______________________________________________ 

 (ii) The old woman waited at the bus stop. 

Ans. :______________________________________________ 

(iii) The son took good care of his parents. 

Ans. :______________________________________________ 

(iv) Mala’s nephew gifted her a photo frame. 

Ans. :______________________________________________ 

Q.8 Complete these sentences with adjectives from the box :  ¼×4=1 

 [ bad, empty, weak, cloudy] 

(i) The sky looks______________.  It may start raining any time. 

(ii) The market is ______________. There is no one to be seen. 

(iii) Sam has recovered from his illness but he is still very 

_________________ . 

(iv) The milk smells ____________________ let’s throw it away. 
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Summative Assessment (S.A. 1) 2015-2016 
Class – IV 

Subject – Mathematics   
Time : 1 Hour       M.M. 20 

Part - A 
Q.1  Fill in the blanks :-       ½×4=2 

 (i) If 0 is divided by any number, the Quotient always is ______ . 

 (ii) The result obtained after subtraction is called ____________ . 

 (iii) The process of totaling is called ___________________ . 

 (iv) 10000 is the smallest _____________ digit number.  

Q.2 Write True OR False :-      ½×4=2 

 (i) The number to be divided is called the dividend. [_________ ] 

 (ii) Nearest 100 number of 3478 is 4000.  [ _________ ] 

(iii) Successor No. of 9081 is 90803.  [ _________ ] 

(iv) Place value of 3 in 2434 is 30.   [ _________ ] 

Q.3 Round the nearest Number of the following :-   ½×4=2 

 (i) 10945 (Nearest 1000) ___________ 

(ii)  2559 (Nearest 100) ___________ 

(iii) 32792 (Nearest 10) ___________ 

(iv) 4589 (Nearest 10) ___________ 



Q.4 Counting by skip :       ½×4=2 

 (i) 2,304  ,  2,314  _____________ _____________

 (ii) 34,234  ,  35,234 _____________ _____________ 

Q.5 Match the following :-      ½×4=2 

 (i) 9770 ÷ 2    - (a) 47 

 (ii) 492 × 1   - (b) 190 

 (iii) CXC    - (c) 4885  

 (iv) XL+VII    - (d) 492 

Q.6 Find the missing number :-      ½×4=2 

 (i) 2000 + _________ = 9000 (ii) 8000 + _________ = 9047

 (iii) _________ × 9 = 72  (iv) 1500 – 400 = _________  

Q.7 Put the correct sign >, = OR < :-    ½×4=2 

 (i) 9876 ______ 9783        (ii) 5923 _____ 9874 

 (iii) CCL _____ CCXL  (iv) CCC ______  CXC 

Q.8 Find the product :-       ½×4=2 

 (i) 246 × 4 = _______   (ii)  563 × 10 = _________ 

 (iii) 450 × 5 =________  (iv)  4724 × 0 = _________ 

 

 

Q.9 Write Predecessor  No. and Successor No. :     ½×4=2       

  Predecessor  No.        Successor No. 

 (i) _______________  34109  _____________ 

(ii) _______________  60308  _____________ 

Q.10 Find the Quotient and Remainder :-    ½×4=2 

 (i) 650 ÷ 10 =   Quotient ___________, Remainder___________

 (ii)  8562 ÷ 10 = Quotient ___________ , Remainder __________ 

(iii) 5959 ÷ 100 = Quotient __________ , Remainder __________ 

(iv) 985 ÷ 10 =    Quotient __________ , Remainder __________ 

 

  

****** 



Q.7 Complete the symbols :           ¼×4=1 

 (i) River _____________ (ii) Temple ______________ 

 (iii) Well _____________  (iv) Railway Broad Gauge __________. 

Q.8 Circle the odd one :-                 ½×4=2 

 (i)  Gujarat, Bihar,  Rajasthan,  Delhi 

 (ii) Sutlej Basin, Ganga Basin,  Brahmaputra Basin,    Himalayas 

 (iii) Ganga,  Kaveri,  Narmada,  Cotton 

(i) Gujarat, Konkan, Malayalam,          Tamil Nadu 

Q.9 Correct the wrong statement :           1×2=2 

 (i) The shape of the Earth is round. 

 Ans. : ___________________________________________________ 

 (ii) The Himachal is the Northern most range of the Himalayas. 

 Ans. : ___________________________________________________ 

Q.10 Write jumbled words :-            ½×4=2 

 (i) ANGAG - _____________ (ii) LATPEAU - ____________ 

 (iii) ARHTE - ______________   (iv) ACLES -   _____________ 

***** 
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Summative Assessment (S.A. 1) 2015-2016  

Class – IV 
Subject – Social Study   

Time : 1 Hour       M.M. 20 
Part - A 

Q.1  Fill in the blanks :-       ½×6=3 

(i) The _________________ is an imaginary line passing through 

the Earth’s centre.  

(ii) A _________________ is a drawing of the whole or part of 

the Earth’s surface. 

(iii) The North Eastern states are _______________ throughout 

the year. 

(iv) The middle range of the Himalayas is called _____________. 

(v) The Plateau region is rich in _________________ . 

(vi) The port of Mumbai is situated on the __________________ . 

Q.2 True OR False :-         ¼×8=2 

(i) The rivers originating in the Himalayan region are mostly rain 

fed.      [___________] 

(ii) Lakshadweep Islands are a group of 36 islands in the Bay of 

Bengal.     [___________] 

(iii) Sand dunes do not remain at one place. [___________] 

(iv) The Hugli and Padma are tributaries of the River Ganga. 

      [___________] 



(v) Perennial rivers are the rivers which flow once in a year. 

      [___________] 

(vi) The Great Indian Desert region receives heavy rainfall. 

[___________] 

(vii) Sri Lanka is an Island country.  [___________] 

(viii) The Southern Plateaus are square in the shape. [___________] 

Q.3 Tick the right Answer :-      ¼×8=2 

(i) The Prime Meridian is a longitude of-  

  (a) 180 degree [ ] (b) 5 degree  [ ] 

(ii) The most important component of a map -  

  (a) Directions [ ] (b) Colour  [ ] 

(iii) How many states are there in India - 

  (a) 29  [ ] (b) 28   [ ] 

(iv) River Ganga originates from the  -  

  (a)Gangatori Glacier [ ](b)  Yamunotri Glacier[ ] 

(v) The Bhakra Nangal Dam is built on the - 

  (a) Sutlej river[ ] (b) Ganga river [ ] 

(vi) The ‘Ship of the desert’ refers to a -  

(a) Horse [ ] (b) Camel  [ ] 

(vii) Black soil is good for growing -  

  (a) Wheat [ ] (b) Cotton  [ ] 

(viii) Which of these cities has a port -  

  (a) Delhi [ ] (b) Mumbai  [ ] 

 

 

Q.4 Match the following :-         ¼×8=2 

(i) Model of Earth -(a) Mount Everest  

 (ii) North Pole  -(b) Salt Marsh  

 (iii) Snow covered areas -(c) River that flows through the deserts   

 (iv) Union territories -(d) 300 islands 

 (v)  8,848 m.  -(e) Globe 

 (vi) Rann of Kutch  -(f)  90 N 

 (vii) Luni   -(g) White 

 (viii) Andaman and Nicobar-(h) 7 

Q.5 Answer in One word :-           ½×4=2 

 (i) Where are the lagoons found? _______________________ 

(ii) Name the O degree line of latitude.   __________________ 

(iii) What is the meaning of Himalaya? ____________________ 

(iv) The main soil of the southern plateaus is the _____________ 

Q.6 Read the clues and spot and circle the words in the grid :        ½×4=2 

 (i) Highest mountain peak in the world. 

 (ii) Highest mountain peak in India. 

 (iii) Origin of the River Ganga. 

 (iv) Northern most range of the Himalayas. 

M T E V E R E S T V W L 
A C R N T V X Y Z L N P 
G A N G O T R I R S T X 
V W X X Z R P L O N S T 
K A N C H L N J U N G A 
A B C D L M O P Q R S T 
H I M A D R I L O P N V 

   



Q.7 Circle the odd one :       ½×4=2 

 (i) Ghee,   oil,   Nuts,   Rice 

 (ii) Incisors, Enamel, Canine, Molar 

(iii) Acrylic, Nylon,  Cotton,  Polyster 

(iv) Bedrock, Gravel,  Sand,  clay 

Q.8 Correct the wrong statement :     1×2=2 

 (i) Plants release Carbondioxide during photosynthesis. 

 (ii) Cotton clothes keep us warm. 

Q.10 Jumbled words :-              ½×4=2 

(i) SOORT - _____________ (ii)  GARUS - ____________ 

(iii) DANS   - _____________   (iv) LCAY -  ____________ 

 
Q.11 Label the diagram : -                ¼×4=1 
 
 
 
 
 
 
 
 
 
 
 
 

Photo Synthesis 
***** 
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Q.1  Fill in the blanks :-               ½×6=3 

(i) Cheese, Soya bean, meat and pulses contain _____________ . 

(ii) Teeth that are used to cut food are called ____________ . 

(iii) Clothes made up of _______________ soak sweat easily. 

(iv) A _________ will always take the shape of its container. 

(v) _____________ is the top most layer of the soil . 

(vi) Plants get essential nutrients and water from ___________  

Q.2 Write True OR False :-          ¼×8=2 

 (i) Plants change light energy into food energy . [_________ ] 

 (ii) Top soil holds most of the root of plant. [_________ ] 

 (iii) The particles of gases are always moving freely. [_______ ] 

    (iv) A liquid has fixed shape and volume.  [________ ] 

 (v) All clothes are made from the same fabric.  [_________ ] 

 (vi) Plaque is useful for the tooth.   [_________ ] 

 (vii) Our body needs roughage to remove the waste. [________ ] 

 (viii) Nuts and grapes are dried for preservation. [__________ ] 

 1

 2

 3

 4
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Q.3 Tick the right ( √) Answer :-      ¼×8=2 

 (i) Our body gets energy from food containing – 

  (a) Proteins   (b) Carbohydrate   

 (ii) The maximum numbers of milk teeth a child grow –  

  (a) 20   (b) 32  

(iii) Nylon is an example of – 

(a) Synthetic   (b) Natural 

(iv) The process by which water changes into ice is called – 

(a) Melting    (b) Freezing  

(v) The layer of soil just below the subsoil in called -  

(a) bed rock  (b) topsoil  

(vi) The green colour of a leaf is because of – 

(a) Chlorophyll (b) Stomata 

 (vii) The gas needed by green plants to make food is – 

  (a)Nitrogen  (b) Carbon di oxide 

 (viii) Which mineral makes our teeth strong  – 

  (a) Calcium   (b) Iron 

Q.4 Give Answer in One word :-             ½×4=2 

(i) Fibres obtained from plants and animal are called 

__________________ .  

(ii) A hard protective layer that covers the crown of each tooth is 

called __________________ . 

(iii) The process by which a solid changes into liquid is called  

_____________________ . 

(iv) A digestive juice produced by the salivary glands is called 

__________________ 

Q.5 Match the following :-          ¼×8=2 

 (i) Sauce    -(a) Topsoil 

 (ii) Saliva    -(b) carnivores 

 (iii) Remove waste from  

the body   -(c) stomata 

(iv) School    -(d) roughage 

(v) Never flow   -(e) canning 

(vi) Fertile layer of soil  -(f) uniform 

(vii) Eat dead animals  -(g) solid 

(viii) Tiny opening   -(h) mouth 

Q.6 Solve the puzzle :-             ½×4=2 

 (i) Produce juices for digestion  ________________________ 

 (ii) Occupies all available space ________________________  

 (iii) Cutting down trees leads to  ________________________ 

 (IV) The unwanted waste is expelled through _________________ 
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Q.1  Name the following :-     ½×10=5 

 (i) Two types of map. 

 (ii) Two types of Basin. 

 (iii) Two Islands. 

(iv) Two neighbouring countries. 

(v) The river that originate in the Himalayas. 

Q.2 Write Answer in One Line :-     1×6=6 

 (i) What is a globe? 

 (ii) What are the two parts of the Southern plateau? 

 (iii) Which area is known as the Rice bowl of South India? 

 (iv) What is a map? 

 (v) What are the major crops grown in the Ganga Basin? 

 (vi) Which kind of wind blows in the Thar Desert? 

Q.3 Write Define (Any Four):-    ½×4=2 

 (i) Sand Dunes   (ii) Plateau 

 (iii) Island    (iv) Peninsula 

 (v) Glacier 

Q.4 Difference between (Any One) :-   2×1=2 

 (i) Latitudes & Longitudes 

 (ii) Political Map & Physical Map 

 

 

 

Q.5 Answer in brief (Any Four) :-          1½×4=6 

(i) What makes India a land of unity in diversity? 

(ii) Name the ranges that form the Himalayan Mountains. 

(iii) Name three states that lie in the Northern Plains. 

(iv) What are the minerals found in the Plateau region? 

(v) Why are there light houses on the Konkan Coast?  

Q.6 Answer in detail (Any Two) :-             2×2=4 

 (i) What are the important features of the coastal Plains? 

 (ii) What are the six main physical divisions of India? 

 (iii) How is the camel important for the people living in the  

desert region? 

Q.7 In the outline map of India, Mark the following :-       ½×10=5 

(i) Nepal   (ii) Tamil Nadu (iii) Rajasthan  

(iv) Indian Ocean    (v) Bangladesh   

(vi) Jammu and Kashmir   (vii) Sri Lanka  

(viii) Arabian Sea  (ix) Goa  (x) Andaman and Nicobar. 

 

***** 
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Q.1  Read the passage carefully and Answers the following :- 

 The Earth is one of the eight large heavenly bodies 

called planets. Which move continually round the sun. 

The planet Mercury is nearest to the sun. It is the 

smallest Planet Venus is the second nearest planet to 

the sun. It comes nearer to the Earth than any other 

planet Venus is very bright because it is covered in dust 

that reflects the sun’s light. 
 (i) Which planet  is nearest to the sun?   1 

 (ii) Which is nearer to the sun – the Earth or Venus? 1 

(iii) Why is Venus very bright?    1 

(iv)  Pick out two Adjective from the passage.  1 

(v)  Write Antonyms : (a) forest ×        (b) dull ×  2× ½ =1 

Q.2 Write word meaning :-             ½×8=4 

 (i) Plain           (ii) Paved   (iii) Mayor                      (iv) heal  

(v) compound (vi) Padded (vii) Pleasing to the ear (viii) wafting  

Q.3 Answer in One line :-            ¾×4=3 

(i)  Where did the clouds go in summer? 

(ii) What did Dick send to Africa? 

(iii) In place of which thing she wanted an apple pie? 

(iv) What did the author do when he saw the snake? 

Q.4 Answer in Detail (Any Four) :-          1½×4=6 

 (i) How did the author get a blue mark on his finger? 

 (ii) What do we learn from the story ‘Some apples, please’? 

 (iii) What did the church bells seem to tell Dick? 

 (iv) Why couldn’t the mountain go there? 

 (v) What happened when the mountain cried? 

Q.5 Make sentences :-               1×2=2 

 (i) Pity   (ii) Silently 

Q.6 Write a paragraph on :-          3 

 Importance of hard work  

OR  

My favourite cartoon character 

Q.7 Write a letter of apology to your friend for some misbehavior on 

your part. 

OR 

 Write an application to your Physical Education Teacher 

requesting him to issue you some sports material for coming 

sports meet.                    1+2+1=4 

Q.8 Write a diary entry about how you helped your mother.      3 

***** 
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Q.1  Name the following :-     ½×10=5 

(i) The body stores the extra of this nutrient for later use. 

(ii)  A part of the body that has a specific job to do. 

(iii) The part of the plants that absorbs nutrients from the soil 

is --------. 

(iv) A substance that do not dissolve in water. 

(v)  A kind of soil containing tiny stones is --------- . 

(vi) Name the lowest layer of the soil. 

(vii) A solid that dissolves in a solvent. 

(viii) Another name for vitamin and minerals. 

(ix) From the stomach the food passes into this internal 

organs. 

(x) The process of water turning into gaseous vapour is 

called --------- .  

Q.2 Give Answer in One line :-             1×6=6 

 (i) What are the parts of a leaf? 

 (ii) What is the composition of soil? 

(iii) What is matter? 

(iv) What is fabric? 

(v) What are the two sets of teeth humans have in a lifetime? 

(vi) What are some good sources of vitamin C? 

 

Q.3 Define (Any Four) :-           ½×4=2

 (i)     Balanced diet (ii)  Fibre 

(iii)  Food Chain  (iv)  Condensation (v) Nutrient  

Q.4 Write difference between (Any One) :-              2×1=2 

 (i) Natural fibre &  Synthetic fibre   

(ii) Solid & Liquid 

 

Q.5 Write Answer in brief (Any Four) :-        1½ ×4=6 

(i) What are some methods of preserving food? 

(ii) What should we do to take care of our teeth? 

(iii) What are the two broad classification of leaves? 

Elaborate. 

(iv) What is soil profile? Describe that various layer of soil? 

(v) How will you take care of the clothes you wear? 

Q.6 Write Answer in Detail (Any Two) :-     2×2=4 

(i) Write a note on soil conservation and its importance. 

(ii)  What is change of state? Describe all the process that 

may cause the change of state? 

(iii) Why do we need to wear different kinds of clothes in 

summer and winter? 

Q.7 Draw diagram (Any Two) :-        2½×2=5 

 (i) Soil profile     (ii) Digestive system  

(iii)  Parts of a tooth 

 
***** 
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Summative Assessment (S.A. 1) 2015-2016 

Class – IV 
Subject – Mathematics   
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Part - B 

Q.1  (a) Write in Ascending order :-     ¾×4=3 

  (i) 2478,  2461,  2469 

  (ii) 1809,  1678,  1967 

 (b) Write in Descending order :-     

  (i) 4456,  2311,  2752 

  (ii) 9876,  6798,  7689 

Q.2 (a) Write Roman Number :-     ¼×8=2   

  (i) 175 (ii) 107 (iii) 219 (iv) 282 

 (b) Write in Hindu – Arabic Number :-  

  (i) CX   (ii) CXL  

(iii) CCXXX  (iv)  CLX 

Q.3 Write Number Name :-      ½×4=2 

 (i)  3952 (ii) 4227 (iii) 3650 (iv) 4444 

Q.4 Write the numerals of the following :-   ½×4=2 

 (i) Three Thousand Five Hundred Eleven. 

 (ii) Two Thousand Four Hundred Thirty One. 

(iii) Three Thousand Two Hundred One. 

(iv) Three Thousand Three Hundred Thirteen. 



Q.5 Write Expanded and short form :    ½×4=2 

 (i) 78098= ---------- + --------- + 000 + ---------- +  ---------- 

 (ii) 34907= ---------- + --------- + ---------- + 00 +  ----------- 

(iii) 40000 + 5000 + 300 + 20 + 2 = 

(iv) 60000 + 6000 + 200+ 50 +5 = 

Q.6 Add. :        ½×4=2 

 (i) 
  6  9  4  2
+5  6  7  8

  (ii) 
  6  7  8  9  4  4
+3  5  9  4  6  7

 

 

 Estimate the sum to the nearest hundred : 

 (iii) 278  + 367   (iv) 214 + 537 

Q.7 Subtract the following :     ½×4=2 

 (i) 79418 – 53496 (ii) 89435 – 60786 

Estimate the difference : 

(iii) 4455 – 2550(Nearest 1000)  

(iv)  895 – 655 (Nearest Hundred) 

Q.8 Multiply the following :-    1×3=3 

 (i) 4321 × 7 (Expanded method)  

(ii) 83 × 92 (Estimate product)  

(iii)  36 × 57 (Lattice method) 

Q.9 Divide & check your Answer :-    1½×2=3 

 (i) 5234 ÷ 4  (ii)  623 ÷ 12 

Q.10 Solve Without statement  (Any Three)  :-         1×3=3 

(i) 8 dolls cost ì  640. What is the cost of 1 doll? 

(ii) 11 shirts costs ì 12,100. Find the cost for 21 shirt? 

(iii) Mr. Grover saves ì  5670 per month. What will be his 

saving in 24 month? 

(iv) Find the number that is less than 5002 by 8904. 

Q.11 Word Problems (Any Four) :-    1½×4=6 

(i) The Delhi Zoo sold 1591 tickets on Monday. 2113 on 

Tuesday. How many tickets did the Zoo sell all together.  

(ii) Mrs. Kapoor has ì 1,25,000. She bought a gold chain 

worth ì  68,568. How much money does she have now? 

(iii) In a Rajdhani Express 940 passengers are travelling. A 

packet of fruity drink costing ì 12 is given to every 

passenger. What is the total cost of the drink served in 

Rajdhani Express? 

(iv) Divide 960 pencils equally among 24 students. How 

many pencils does each student get. 

***** 
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le;% 2%00 ?kaVk       iw.kkZad 30 
Hkkx & c 

iz-1 vifBr x|ka'k dks i<+dj uhps fy[ks iz'uksa ds mÙkj nks& 

Hkkjrh; laLd̀fr ds vkn'kksZ dh >yd ;gk¡ ds R;ksagkjksa vkSj ioksZ 
ls ǹf"Vxkspj gksrh gSA le;&le; ij vkus okys ;s R;ksgkj ,d 
vksj rks g"kZ] mYykl] meax] rFkk thou ds u;s mRlkg dk izrhd 
gSa] rks nwljh vksj Hkkjrh; laLd̀fr dks thfor j[kus esa Hkh 
egRoiw.kZ Hkwfedk fuHkkrs gSaaA  
nhikoyh izfro"kZ dkfrZd ekl dh vekoL;k dks euk;k tkrk gSA 
fgUnqvksa dh ekU;rk gS fd blh fnu Jh jke pkSng o"kZ dk 
ouokl iwjk djds rFkk jko.k dk o/k dj vius HkkbZ y{e.k ,oa 
lhrkth ds lkFk v;ks/;k ykSVs FksA v;ks/;kokfl;ksa us [kq'kh esa ?kh 
ds nhi tyk, FksA vkt Hkh ?kjksaa o cktkjksa dks jks'kuh ls ltk;k 
tkrk gSA y{ehth o x.ks'k iwtu dj feBkbZ [kkrs o f[kykrs gSaA 
vkfr'kckth djrs gSaA  
1- Hkkjrh; laLd̀fr ds vkn'kksZ dh >yd fdlls feyrh gS\ 1 
2- nhikoyh dk R;ksgkj dc euk;k tkrk gS\   1 
3- bl R;ksgkj ds lkFk dkSulh /kkfeZd xkFkk tqM+h gS\ 1 
4- nhikoyh ds fnu yksx fdldh iwtk djrs gSa\  1 
5- x|ka'k dk mfpr 'kh"kZd fy[kksA    1 

iz-2 'kCnkFkZ fy[kksa&       8×½=4 

 fujkyh  vk;kstu uV[kV  LoHkko 

vk'p;Z  d"V  O;FkZ  fu'p; 

iz-3 fdUghaaa rhu iz'uksa ds mÙkj ,d iafDr esa fy[kks& 3×1=3 
1- unh fdldh csVh gSa\ 
1- jk?ko us xyr MsV 'khV D;ksa fy[k yh\ 
2- /kuhjke dk iM+kSlh dSls LoHkko dk Fkk\ 
3- Vhe cukdj [ksys tkus okys [ksyksa ls dkSulh Hkkouk 
c<+rh gS\ 

iz-4 fdUghaa rhu iz'uksa ds mÙkj foLrkj esa fy[kks& 2×3=6 
1- rjktw ij yksx D;k&D;k p<+k jgs Fks\ 
2- rsukyhjke us /kuhjke dh ijs'kkuh nwj djus ds fy, 
D;k fd;k\ 

3- lcds nq[k dks viuk nq[k D;ksa ekuuk pkfg,\ 
4- unh ds rV ij cls dqN uxjksa ds uke crkb;s\ 

iz-5 fdUghaa nks eqgkojksa dk vFkZ fy[k dj okD; esa  
iz;ksx djksa&       2 
1- vkleku flj ij mBkukA 
2- nk¡rksa rys v¡xqyh nckukA 
3- vk¡[kksaaa dk rkjkA 

iz-6 fdlh ,d fo"k; ij vuqPNsn fy[kks&   3 
ir>M+ dk ekSle vFkok  iznw"k.k dh leL;k 

iz-7 tUefnu ij migkj gsrq ekekth dks /kU;okn i= fy[kksA 
vFkok 

 'kS{kf.kd Hkze.k dh O;oLFkk djokus gsrq iz/kkukpk;kZ th 
dks izkFkZuk&i= fy[kksA    1$2$1=4 

iz-8 viuh cgu dks fDot izfr;ksfxrk esa Hkkx ysus ds fy, 
'kqHkdkeuk lans'k fyf[k,A      3 

  
****** 


